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INSTRUCTIONS TO CANDIDATE:
1.
The paper contains two Sections: Section A and Section B.

2.
Answer all the questions in both sections.

3.
All answer and working must be written on the question paper in the spaces provided


below each question.

4.
Marks may be given for correct working even if the answer is wrong.

5.
Electronic calculators must not be used.  Mathematical tables may be used.
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Mathematics Form Two









     Turnover

SECTION I:
Answer all questions from this section:
1.
Without using mathematical table or calculator, evaluate: -




(2 marks)



-16  4 + 6 x 14 - 2( - 5



84 14 x 3 
2.
A father is 2½ times as old as his son.  Four years ago, the ratio of the father’s age to 

the son’s age was 3:1.  Find their present ages.





(3 marks)

3.
The sum of 2 numbers is 8.  The difference of their squares is 8.  Determine the two numbers.














(3 marks)

4.
Use reciprocal tables to evaluate.







(3 marks)
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5.
Solve for ( in 
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(3 marks)

6.
Calculate the acute angle formed between the lines.



y = 2( + 5 and 4( + 5y - 20 = 0






(3 marks)

7.
A prism was cut from a cylindrical block of wood of length 20cm and radius 10.5cm.  

The cross-section of the prism is a sector of a circle with the angle at the centre as 60o.

[image: image7.jpg]




The sides of the prism were painted, except the ends.  Calculate the area of the shaded surface.













(4 marks)
8.   
A straight line PQ passing through the point p (2, 4) is perpendicular to the line whose equation
is 2y = 3x – 5. Determine the equation of the line PQ.




(3 marks)
9.
Mary bought 3 blouses and 2 books for a total of Kshs. 500.  Jane bought 4 blouses and 5 books for 
a total of Kshs 900, find the cost of 1  blouse and 3 books




(3 marks)

10. 
Find the centre and radius of a circle whose equation is x2 + y2 + 6y – 8x – 24 = 0

   (3mks)

11.
A sales woman earns a monthly wage of Kshs 3000 and gets a commission for the goods she sells. 
In a certain month she sells goods worth Kshs 16,000 and her total earning was Kshs. 4,280. 
Determine the rate of the commission.






(3 marks)

12.
Solve for ( in log2( + log2 (( - 30) = 6





(3 marks)

13.
Simplify:

[image: image3.wmf]2

2

2

2

c

c

c

c

-

+

-

y

y

y









(3 marks)

14.
A plane figure of area 50cm2 is transformed by matrix 
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matrix. Find the area of the final image.






(3 marks)

15.
Use logarithm tables only to evaluate






(4 marks)
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16. 
A two digit number is such that the sum of the ones and the tens digit is ten. If the digits are reversed; 

      
the new number formed exceed the original number by 54 find the number.

  (3 marks)
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18.
In the figure below, ABCD is a cyclic quadrilateral and angle ABD = 42(, angle BAC = 58( and angle DBC = 36(
Giving reasons, find the value of:

(a) Angle DAC








(2mks)

(b) Angle ADB








(2mks)

(c) Angle ACD








(2mks)

(d) Angle CDB








(2mks)

(e) Angle CEB








(2mks)

17. A girl wanted to make a regular octagon of side 14cm. she made it from a square piece of a card of 

size y cm by cutting four isosceles triangle whose equal sides were x cm each as shown in the figure below.

a) Write down an expression for the area of the octagon in terms of X and y


(1mk)

b) Find value of x










(1mk)

c) Find the area of the octagon.








(2mks)

19. i) On a graph plot the points A (1,1) B(2,2), C (5,1) and D(4,0). Join the points with straight 

         lines. 











     (2mks)

     ii) On the same axes, locate and plot the points  A1B1C1D1 the images of ABCD under an 

        enlargement centre at the origin and scale factor – 2   





      (2mks)

     iii) Draw the quadrilateral A1B1C1D1 and state the co-ordinates of its vertices. 


      (2mks)

    iv) Locate and plot points A11B11C11D11the images of ABCD under a rotation of + 900 about the 

         origin. Hence draw the quadrilateral A11B11C11D11 




                   (3mks)

   v) State the co-ordinates of A11B11C11D11 






                    (1mk)

20.
A house is to be sold either on cash basis or through a loan scheme.  The cash price 

is sh.2000000.  The loan scheme is a cash deposit of 20% of the cash price and 


the rest of the money to be paid through a loan at 10% p.a. compound interest.




(a)
A customer decides to buy the house through the loan scheme.



(i)
Calculate the amount of money loaned to the customer.



(2 marks)



(ii)
Interest was calculated once at the beginning of the repayment period.  




If the customer took 5 years to repay the loan,  calculate the amount 




paid early month.  Correct to the nearest ten shillings.


(4 marks)


(b)
At the end of 3 years, the customer sold the house for sh.4000000 and 



cleaned the remaining loan balance.  Calculate the profit from the sale 



of the house.









(4 marks)

21.
A cylindrical tank is to be constructed.  A model of the tank is made such that it is similar 


to the actual tank.  The curved surface area of the model is 2160cm2, and that of the 


proposed tank is 135m2.










(3 marks)


(a)
Given that the height of the model is 6cm, calculate the height of the actual tank



 in metres.









(3 marks)


(b)
Calculate the volume of the model given that the diameter of the actual tank is 14m. (3 marks)


(c)
Determine the volume of the actual tank in m3.




(2 marks)


(d)
The actual tank is to be used to store some liquid whose density is 0.82g/cm3.




If the tank is half full, determine the mass of the liquid in kg.


(2 marks)
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